AN | FER | FEREAR | FEREESE | B24ns | | B0 | FES | EDAR | JFESE [BAd FEE
1 — 1 1 HlE | $FHY 26 = 4 28 TE | BREY
2 = ] 10 | MoElE | $RE 27 — 2 1 5] $RHL
3 — 2 24 RIS | BRI 28 — 2 10 BT | $FHL
4 — 2 31 Z W | BEHL 29 — 2 17 B | BREL
5 - 5 7 = & FHHY 30 — 2 18 sE | BEHY
6 - 2 8 &l = FRHL 31 — 2 22 e | BEHY
7 - 2 16 W FRHL 32 - 3 11 £ | BEHY
8 - 2 23 Pex FHHY 33 — 3 17 F | $FHL
9 - 3 8 ey [l PRHEY 34 — 3 23 A BREY
10 — 3 33 N =) FHHY 35 — 3 25 G2 | BEHY
11 . 4 11 it FREN 36 — 4 1 th | $FHL
12 - 4 19 =1 BB FRHL 37 — 4 14 F | FRHL
13 - 5 3 i o 35 38 — 4 29 JE | $FH
14 — 5 15 = | R 39 - 4 30 | BREY
15 — 5 31 CE | $EHEL 40 — 5 6 3 | BREY
16 - 6 8 Bl B PRHEY 41 — 5 20 = | B
17 . 6 13 bt | R 42 — 5 23 | BEHY
18 - 6 17 s | R 43 — 5 28 oo | $FHEY
19 — 2 19 FE | SREL 44 — 6 1 B2 | RN
20 — 2 21 Sy | PR 45 — 6 5 it | PREY
21 . 2 29 HEE | BRHL 46 — 6 9 & | BEH
22 — 3 5 FEE | BRHY 47 — 6 30 g7 | BFHEN
23 — 3 6 e | BEHY 48 — 6 32 & | BREN
24 . 3 7 == | #FH 49 — 6 33 | | $%HL
25 - 4 8 =lE PRHL
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